Cheating ways

Concept Lecture -5




A rice trader sells rice at cost price but adds

/Eﬂ%lmpuntleﬂ Find his profit percentage?
TF dlac] &l AR ArEdl A F Aed

Joy O 9T § Wed 10% e & @y
IHHT ATH % T

a)9.09% \«K{lO%

c)11.11% d) 12.5%




To gain 10% on selling a mixture of
milk at the cost price of pure milk, the
guantity of water to be mixed with

50 kg. of pure milk is
/" 50 frettamer A U H fhden
@ gl AT S R @eor a6
YSY q¥ & @NId Hed W a9«
9T 10% HT AT gl
a) 2.5 kg \,b’fSkg
c) 7.5 kg d) 10 kg




A rice trader adds, 10% impurity ,
and sells rice at price 20%
higher than cost price. Find his
profit percentage?

T dAIddl $T IR Ardal
A 10% fAemEe swar § 3
T AT ¥ 20% SIGT HAed
Waa?n%ﬂ IHHT AT %

a) 30% \_,I'l)/32%

c) 8% d) 15%




1> 6 _
T 5
& _

A milk man buys pure milk and adds
water such hpat the ratio of milk & water
become 5 and sells the mixture at a

price 30(90 igher than cost price. What
is his profit percentage?

UF iU ey Y Tlg F IFA
59 e wHt @ ¥ F gy sk
Uil FT W9 5:1 @ Ser § 3R
a8 BT F FHET ¥ 30% IOF
W AT AT §| IHHT A o IAA?
a) 51.66% b) 20%

¢) 50% d)33.33% \ of 56%
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A dealer professing to sell his goods at cost
price uses 900gm weight for 1kg. His gain
percentage is:

ANTd H{ed W 394 AT H d9a F AT
tF NeW 1 frell & AT 900 AH FoIT
HT IYANT HIAT g1 3T 17 gfqerd &
a) 9% b) 10%

¢) 11% 111 %
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A dishonest shopkeeper pretends to sell his
goods at cost price but uses false weight
nd For a weight of 1kg he uses:
R T Y ATA F AR
T W T R@mar Fyar § AfeheT
5r3 qofel &I mwr FT & 25% T
FAE & 1 el Fo ¥ AU @
fhdel aIeT HT 3YANIT FIAT §:

a) 750 gm \Jw)/800 gm
c) 950 gm d) None of these
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A rice trader adds| 10% impuritﬂ and sells
rice using 800gm weight in place of 1 Kg.
Find his profit percentage?
TH gEdl H U TgEEl A 10%
fAdmae #tar § 3k d9d @Ey 1 A
$T SITE 800 AUTH TSTel T 3YART FIAT
g| 3HST ATH % TdAA?
a) 30% b) 32%

37.5% d) 35%




A man sells tea at (10% profit)Jand uses a
5 weight which is|20% less)than the actual

Il Jero— | measure. His gain percentage is:
Uyt Uayg UF A 10% W 9 AT d9ar § 3R

Mt 9 U gl HT YA FT § SN aEadE
Y AT & 20% ®A gl 3G&T o1 gfaera &
a) 30% b) 35%
Vc»)’é7.5% d) None
USe  Shew
8o LoD




/ A trader sells rice at, 20% above C.P,and uses
B 800gms weight instead of a kg weight. What
A& xteeo

—_— = Bj'ﬂis his profit percent? .
/5/ v - UF WNH FaAem § 20% Hfew A
A gEae dgar § 3R 1 fBFer & s9
> 4 800UTH ToIA FT FEAATA HIAT §| IHHT
Ty % TATA?
a) 40% b 50%
c) 60% d) 70% e) 80%




" S

A trader sells rice at(25% above C.P)after
adding 20% impurities and still he uses
(800gms weight instead of a kg jwelght what

THh ANAT 20% 1 AdEe F:F
FATT ¥ 25% HOF # 9@ J=ar @

% X-/léeez |S” a_is his profit percent?
of g’
2-

IR 1 el & T 800ATH Toiad T

STAATA HIAT | STHT ATH % TAA?
_AY87.5% b) 80%

c) 60% d) 66.66% e) 80%




A milk vendor contemplates about various methods to
make profit. Which of the following would maximize
his profit?

Q122 = gy awr aW FAR F FF alR F AR A

Yo @Far B T & ¥ Fla @r aliwr 3@ FAET
BIRCHG FI9M?
3 sell milk at 20%profit R0
%o jAUse 820 ml jar instead of a liter.1000m{ 2. /.
¥ Add 20% water and selling the milk at C.P. 20
6 dfAdd 10% water and use 900ml jar instead of a liter.
—SX XAII are same
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A Trader buys sugar at Rs.20 6Ber_k,g_adds

20% impurities and sells at_Rs.24 per kg.

what is his profit percentage? Sf

UF AR 20| frer ¥ @ @dear &

IR 20% AdEE FF 24 FeY H a=

ST | 3IWHT ATH % FH FAT N7

a) 20% b) 25%

c) 40% 44% e) None
WMn |

CPo Ly P/{jmd:'m) %

SP=) 17,




A man buys pure milk at Rs.30 per liter

adds water to it and sells it at Rs. 35 per
liter. If his profit in the deal is
the ratio of milk to water? T

UF gfFd 30% ofler A qu @lg
39A gt Aear § 3R 35% ofler #
IIdT 8] 3PN 3§ ddaa #H 3W 40%
amT g3 A gy AR Ul FT 3T
JAld

HI? N
a)2:1 b)3:1
c)4:1 \5: 1 e)6:1




A cloth merchant sells the cloth at the ce
price but@ains 33. 33%} by using
scale. The length of the scale that he uses is:
UF HYST dFhdl FIS H F.Hed H d9a
¥ W I HAex AT T FF 33.33%
AN HAGT g FAh AT N dFES
qdqr?

a) 66.66cm 75

C)80cm d) 90 cm d) None




6 A trader mixes rice and stone in such a way
that the net mixture contains 16.66% stones
and sells rice at 25% above C.P and also uses
800 gms weight instead of a kg weight what is
% g his profit percent?
) & SR Iaal A 30 diE e} fAemar
/5’ Y g-—)ﬂ% f& 9 Fa BT F 16.66% T IR
2 Y 87 Faea ¥ 20% HMF # Traw agar ¥ AN
1 el & T 800 IAH Tolal &I
STAATT HIAT & IHHT oIH % TdRA?
a)82.29%  \ bf87.5%
c) 83.33% d) 62.5% e) 80%




A cloth merchant uses 120 cm scale while

- buying cloth and 80 cm scale while selling. If

Lzo CP 80 SP he sells the cloth a what is his
110 S f profit percentage?

17 == TS HUST YR FIST Tgd §T 120cm

%0 CP maﬁwzﬁﬁg&rsocmmmsﬁmﬂ

FIAT §] 3R 9§ FIS F FATT W 9T

& @ 3@ Braat % FT BIEET BAT?

dgo; a) 33.33% 40%

A S’r‘“’c) 449, d) 50%
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A cloth merchant uses 120cm scale while buying
and 90cm scale while selling. If he sells the cloth
at cost price, what is his profit percentage?

TF FIYST AURT @A §€ 120cm 4T d9d
gT 90 cm HT ATT TANT H{aT & 39X a8 H9S
F FHAFT W dTGar § A IAFT ATH % qTAA?
a) 20% b) 25%

c) 30% \#H33.33% e) 44.44%




Kamal has a weighing balance in which there is a technical

” fault. The right pan of his balance measures alwayg 200g more
+2 M than its left pan. Kamal as usual mis utilise this balance in his
W business. He takes more while purchasing and gives less while
o) selling. He uses onIy‘Z kg weight|for the measurement and to
measur kg weight he measure_n times by 2 kg, but he sells

\] +lo/ goods at m What is his profit percentage?

| 12) mﬁgﬁ@.mﬁaﬁaﬁﬁm%lmaﬁmﬁa
AL = 33\3ﬁanmaﬁﬁaﬁzoommm%lmmn
A2y (Q # TWE SUH IUA AW F TEd SO A §| aEq
9 Tied FAY ST A A9 § 3R I aFd FA A &
21 9% A9 & T Faa 2 fFal g9T FT IGAET FaT ¢ 3R
2n fFaY g9 A F AT a8 2 fFel @ n IR A9Ar § dAfe
98 FT Hed T WA d9dT g1 WS oy uferera 41 82

\,a/ZZ % b)23;%

c) 50% d) None of these

§
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A shopkeeper marks his goods 80% above

q7 CP and gives 25% discount to customer. At

10
Y

5\‘;& the time of buying the goods he ﬁﬁ 20%
time

more weight instead of 1kg and a

of selling the goods he gives 10% less
weight instead of 1kg. find his profit %‘
UF gHEGR AT Hed d 80% FW
39T At RAfeea Far § IR aIEE ]
25% BT AT § 9 TlEd WA 39
1k & §9F 388 20 % ’OF To«
fAear & 3 g\ g AT T§ 1 k
& T 10% HH Tl &aT & 3T
AT % AT hfarg)

a) 85% \y{SO%

c) 56% d) 90%

| | 21



A milkman mixed water into milk and marked
the adulterated milkm of pure milk.
If he gains a profit of 37.5% the%ind the
amount of water in 17.6 liter of the mixture?
U QU el qu H Ul e 3§ @
Aed YU qU & FI Aed W 25% e
sifha fram| afe 3@ 37.5% T omer gam
g ar Ag fAFT 17.6 T o &

@(1.& b)1.76L ¢)2.2L  d)1.1L
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A trader cheats both his supplier and his customer
by using faulty weights. When he buys from the
supplier, he takesEO% more|than the indicated
weight. When he sells to his customer, he gives

20% less [than the indicated weight. If he sells his

articles at the cost price, what is his net profit%?

UF AR GOl HX T 3UANET FIE 9
3mqfdeat 3T 3@F aEF Q= F gET &ar §
9 a8 IYfeiFal § Tlear §, @ 97 GHfaw
R q 20% 3+ odr g 9 98 HIA AEH
$I S°UdT g, df 98 Hhfde dqold & 20% FH
&1 & ¥8E 9F APIT Hed W U WA FN

S‘Qm“'\a &.Mmp/m% ?ﬂmammﬂﬁamm%?

50% b) 663 % c)44% d) 449%

| GP | 23
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A shopkeeper marks up his goods 50% above the
CP and gives 23% discount to the customer. At
the time of buying he uses instead of
1kg and At the time of selling the goods he gives
eight instead of 1kg. find his profit %2
TF gHFEGR 9 AT H CP ¥ 50% FN
@ar ¢ 3R AEF F 23% Te A 7| @leet
F AT a8 1 Fer & 9 1120 ATH &1
3YANT FIAT & AR AHAT 9 & FAT a8 1
fFel & dcer 880 UH T &dT & IHHT
amsT gfdera &ar 82

a)40% 47% c)43% d) 45%

R 24



A merchant claim to make profit of 12. 5% on his

W

Cff X sales but actually makes 25% by using false
q [ O/_ 5 weight when he professes to sell 1kg, how much
— x b p————%

& we Y does he actually sale?
/Z TF SMRT 9= fashr 9T 12,59 187 HT grar
00 — W&

AT & AfFeT aEdg H 1 Fan. A 98
Tdd 9T did & 25% T o1 FAET 8
AT T 39 aaa & fraar =T d91?
a) 800gm \y{900gm c)920gm d)950gm




mifk. Wakr A milkman sells the milk at the cost
m L W b price but he mixes the water in it and
thus he gains 20%. Find the ratio of

10Z 1< Lo
water to milk in mixture if CP of water
1
is — of CP of pure milk.
Fe 0 10
=6:‘O( -"w) UF gftrar qu A 9t e Baor w®)
5 0™ +W T Aed W & 39T § 39 THR 39

20% T AT gar g Bsor 7 geh sk
60M 161y = 5O 450L)  §Y FT AU A X I T F H
Aed YU qU & HF Hed F 1/10 T[T

JS:ZZ b)5:27
2[5 .25 05:17 d)1:11

W - =

(v g
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